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Name: ke Date: Period:
Precalculus: 5.4 Quiz Review

7
1. Given sinu=— & cosv= % . Angle u is in Quad. IT and Angle v is in Quad. IV. Find the exact

value of each:
b. cos (v —v) c. tan (u —v)
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2. Write the expression as the sine, cosine or tangent of a single angle and find the exact value.

c0s 261° cos 36° +sin 261° sin 36° 40 a
cos (267°~ 3¢°) Co$5225° .S
3 T 0
-2 . .
2 T . 0 =¥s

3. Verify: cos [% - x} =sin x

Cos 1:':(:osac + Sin X 5N I{ = 5inX
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] 00)

(0) os X + SINX(1) = 5'nX (0
S04 = SiaxX v

4. Solve over [0, 27): sin{x+§]+sin(x—%] =1

SINY CoS T + (0SX 5inZ + S5ioXCo3 F — (o3x SinZ =

sinx (1) + cosxT2) + 3iax (%) - cosetF ) =t

Fsinx + 2 50X =1 (0))
SinX =1 «—$‘

x=T
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5. Find the exact value of each using a sum or difference formula:

a. sin255° b. cos255°
sin (#5°4216%) = €05 (45° +210°) =

c. an255° = 4an (45°+210°)
+an H4s® +1an2i0°
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6. Write the expression as the sine, cosine or tangent of a single angle and find the exact vaflue. = 12 +0U3
a. sin50°c0s20° —cos50°sin 20° =

sin (50° -20°) = CDS(“D""'ZO‘) =
3'n30° = | ¥

2 €0s 606° = i

7. Verify: sin (% + x] =cosx

sin % tosy + tosZ sinX = CosX
(1) Cosy + (o) 5inx = CosX (o))
oSt < CosSX v’

. T) . ) |1
8. Sol 0, 2m): +— |+ -=|==
olve over [ R Tf) Sll'l()f ) SIH[I 3 J

Sin x €03 & + cosysin 5 + SionCos T - Cosx ST = 4

9sinxtosT = 4

asinx(%) =%

siny =% é}c@ —%g; L
x=| B :

x|
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b. cos40°cos20°—sin40°sin 20° =




